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(1) (a+2b)x—(a+2b)y (2) (2x-1)>-8(2x-1)+15
a+2b=M H< 2x-1=M &<
= Mx-My = M(x-y) = (a+2b)(x - y) = M?-8M +15 = (M - 3)(M -5)
= (2x-1-3)2x—1-5) = 2x—4)(2x - 6)
= 4(x - 2)(x - 3)
(3) (a+b)> +7(a+b)-18 (4) (x + 6)> +8(x +6) + 16
a+b=MEEL x+6=ME&HL
=M>+7M-18 = (M +9)(M-2) =M?>+8M+16 = (M +4)% = (x + 6 + 4)?
=@+b+9)(a+b-2) = (x + 10)?
5) y-1)*-2@y-1)+1 1) 1)
y-1=M &< (6)[x+—] B L

— A2 _ 2 _ 1\2
=M"-2M+1=M-1)" =@y -1-1) 2E3|2EOARESET
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=(x+y+1(x-y)

(7) (a+3)* - (a-2)? ®) (x+y)z-(x+y)* +x+y
2F5|2EDRIAZIGHT B x+y=M &<
=((@+3)+@-2))((a+3)-(a-2)) =Mz-M?>+M=M@z-M+1)
=(a+1)x5=52a+1) :(x+y)(z—(x+y)+1)

=(x+y)(=x-y+z+1) = -(x+y)x+y-z-1)

(1) (@ +2b)(x - y) (2) 4(x - 2)(x - 3)
(B)@+b+9a+b-2) (4) (x+10)2

(5) (v - 2)? 6) (x+y+ 1 -)

(7) 5(2a + 1) ®)-(x+y)(x+y—-z-1)




